¥ Leari\¥ng

Money word problems

Grade 4 Word Problems Worksheet

1. 5 pounds of tomatoes cost $15.50. How much does one pound
of fomatoes cost?

2. A carton of eggs costs $2.90 and a package of bacon costs
$3.10. How much does it cost to buy 2 cartons of eggs and 1
package of bacon?

3. A bottle of orange juice costs $3.50 and a bottle of grape juice
costs $5.30. What is the difference in the price between the
orange juice and the grape juice?
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4.  Ajarof honeyis $2.40. How much do 4 jars of honey cost?

5.  Two boxes of cereal costs $7.40 and buying one box of cereal
only costs $4. How much do you save by buying two boxes at
the same time rather than one at a time®@
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Answers

1. $15.50 +5=%$3.10
A pound of tomatoes is $3.10.

2.  2x%$2.90 = $5.80 for the eggs
$5.80 + $3.10 = $8.90
It would cost a total of $8.90 for the eggs and bacon.

3.  $5.30-$3.50=9%1.80
The difference in price is $1.80.

4. $2.40x4=$9.60
4 jars of honey cost $9.60.

5.  Buying 2 boxes at once costs $7.40.
Buying 1 box twice costs 2 x $4 = $8.
$8.00 — $7.40 = $0.60
Buying two boxes at once saves 60 cents.
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